JRAVBEMEY—)U 7 X MR A [A4/ 2 —)b 86.4X50.8/ RH :

R F Y — 2 VR

28R 15 MU ED 1 BIRICAEE]

7 bh7Z/71>300mg LTI K 500mg;, A7 A
27K 120mg; 77 U LY FOEILT £ F VRS 60mg

R F Y — 2 VR

28R 15 MU ED 1 BIRICAEE]

7 bh7Z/71>300mg LTI K 500mg, A7 A
> KA 120mg; 7 ) 1LY FAEIV T £ F )VERZE 60mg

R F Y — 2 VR

28R 15 MU ED 1 BIRICAEE]

7 bh7Z/71>300mg; LTI K 500mg;, A7 A
> KA 120mg; 7 ) 1LY FAEIV T £ F)VERZE 60mg

s F Y — 2

28R 15 MU ED 1 BIRICAEE]

7L b7Z/71>300mg; LTI K 500mg, A7 A
> KA 120mg; 7 ) 1LY FAEIV T £ F)VERZE 60mg

s F Y — 2

28R 15 MU LD 1 BIRICAEE]

77 Z/71>300mg LTI K 500mg, A7 A
> 7KFI 120mg; 7 ) 1LY FAEIV T £ F )VERZE 60mg

£2127F21.8 24 18.6mm] 4987239120326A

i F Y — 3 VR

28R 15 AU LED 1 BIEICHEY]

T b=/ 71300mg; T7 Y R 500mg; A7 T
> 7KFI# 120mg; 7 1) Ib1Y 7a IV T 2 FIVERE 60mg

~

i F Y — 3 VR

28R (15U LD 1 BIZICHES ]

T b=/ 71300mg; T7HE K 500mg; A7 A
> 7KFI# 120mg; 71 Ib1Y 7aE VT 2 FIVERE 60mg

R F Y — S VR
28R (15 LD 1 EBITHELE]

T b=/ 71300mg; T7HE R 500mg; A7 T
> 7KFI# 120mg; 71 Ib1Y 7aE VT 2 FIVERE 60mg

i F Y — 3 VR

28R 15 A LED 1 BIEICHEY]

T b=/ 71300mg; T7HE K 500mg; A7 A
> 7KFI# 120mg; 71 Ib1Y 7aE VT 2 FIVERE 60mg

i F Y — 3 VR

28R 15 A LED 1 BIEICHEY]

T b=/ 71 300mg; T7 I K 500mg; A7 A
> 7KFI# 120mg; 7 1) Ib1Y 7AEIVT 2 FIVERE 60mg



